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Q1. The network having admittance function Y(s)=(4s"2+6s)/(s+1)

Option A: RC function

Option B: LC function

Option C: RLC function

Option D: None of the above

Q2. In the given network, the switch is closed at t = 0. With zero current in the
inductor, find i at t=0"

Option A: 0A

Option B: 1A

Option C: 2A

Option D: 3A

Q3. In the network, the switch is moved from position 1 to position 2 at t=0, steady state
condition having been established in the position 1. Determine i(t) for t>0.

X
1oV ) -

>1 0 | 1 1H
| i =

Option A: 10e™(-2t) A

Option B: 10e™(2t) A

Option C: 20e"(-2t) A

Option D: | 20e™(2t) A

Q4. In the network, the switch is moved from a to b at t=0. Determine i(t)
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Option A: 10e”(-0.5t) A
Option B: 10e”(-0.5) A
Option C: 10e”(0.5t) A
Option D: 10e7(0.5) A
Q5. The switch is opened at time t=0. Determine v(t) for t>0.
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Option A: 4t*en(-2t) A
Option B: 4t*en(2t) A
Option C: 2t*e(-2t) A
Option D: | 4t*e"(-2t) V
Q6. Determine the driving point impedance of the network shown in figure
25 25
o—————000 00—
Z(8) —» 41 s
T 2s T 2s
O
. . 3
Option A: SS 4_43
i : 4 2
OptionB: | 166" +125° +1
Option C: 4 2
prion 16s™ +125° +1

s> +4s
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Option D: None of the above
Q7. What is the value of V in the network given here?
2V, 40 20
<% ANV AW
T~ L Vo
50= =1Q
s » ) ~10V
L y
5V Iy ai2v1 b
Option A: 54
Option B: -5I
Option C: 21
Option D: 21
Q8. Find the current I1 in the network shown
2/, 40 |, 20
& MW W
8 et
50 & =1Q
e \ ..:- \ 2F--
J A | 10V
5V — I ‘) 21, b
Y /x
Option A: 1.364 A
Option B: 2.878 A
Option C: -1.364 A
Option D: -2.878 A
Qo. Find the current 12 in the network shown
2lx 40 |, 20
- M- A
- et
5‘5!5—'\: T E:: 1 ", .y
S \ ._:- \ §
J A | 10V
V. I \) 21, b
Y /s
Option A: 1.364 A
Option B: 2.878 A
Option C: -1.364 A
Option D: -2.878 A
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Q10. Find the current Ix in the network shown
21,
40 | 210
. -
5‘ L) E—: -._ :'_E 1 i} ™
) 1 ) =10V
BV Iy ¢‘) 2, b
Y/

Option A: -1.514 A
Option B: 2.878 A
Option C: -2.878 A
Option D: 1.514 A
Qi1. Find the voltage across 5 ohms resistor in the network shown

. ih

v, L 209
§1ULI >100
. 5 -
2 A (A ) § 50 1
I"‘a-.---"/ < /‘\
f\l/ 301, T 50V

Option A: 20V
Option B: 20V
Option C: 40V
Option D: -40V
Qi2. Find the voltage Vx in the network given

V, 40

* AN

i -H—.l'u ‘_: a"f 1 - .rxf\"".
0.6 A & =100 Q \T ) = 500 \'/ 0.2 V,
25 Ff

Option A: 3A
Option B: -3V
Option C: -3 ohms
Option D: -38S
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Q1s. When using Superposition theorem in the network given here, what will be the
current through 6 ohms when only 15 V source is acting? (assuming current is in
clockwise direction)

] 612 B
——\ANy ATAVAY
l"..
15V — DEL — 10V

Option A: 0.3A

Option B: 0.34 A

Option C: 0.39A

Option D: None of the above

Q4. When using Superposition theorem in the network given here, what will be the
current through 6 ohms when only 10 V source is acting? (assuming current is in
clockwise direction)

] 6152 B L
——\ANy ATAVAY
l"..
15V — DEL — 10V

Option A: 0.2 A

Option B: 0.26 A

Option C: 0.29 A

Option D: | None of the above

Q15. When using Superposition theorem in the network given here, what will be the
current through 6 ohms? (assuming current is in clockwise direction)

] 64 B Q
——\ANy ATAVAY
l"..
15V — DEL — 10V

Option A: 1A
Option B: 0.74 A
Option C: 0.65 A
Option D: | None of the above
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Q1e6. If the load resistor 1s 16 ohms, what is the Thevenin's equivalent voltage?
10 2 60
AVAVAY AAYAY,
l Y,
FAN -2
40V — { bu.ag S 180
\ T" <
Option A: 10V
Option B: 20V
Option C: 30V
Option D: None of these
Q1l7. If the load resistor is 16 ohms, what is the Thevenin's equivalent resistance?
10 2 60
AVAVAY AAYAY,
l Y,
FAN -2
40V { pu.mﬁ 2160
\ T <
Option A: 6 ohms
Option B: 12 ohms
Option C: 18 ohms
Option D: 24 ohms
Q1s. Determine the current in the 16 ohms resistor for the network given?
10 2 60
AVAVAY AAYAY,
l Y,
FAN -2
40V { pu.mﬁ 2160
\ T" <
Option A: 02A
Option B: 1A
Option C: 2A
Option D: 2 A
Q19. When the voltages and currents are to be found out from a given network, this is
called as
Option A: Network Synthesis
Option B: Network Analysis
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Option C: Both of the above
Option D: None of the above
Q20. In maximum power transfer theorem,
Option A: RTH=RL
Option B: VTH = VL
Option C: ITH=IL
Option D: None of the above
Q21. The voltage V in the figure is equal to
30
o A
+
/'_ﬂ" \

v "ov (1 )5A
Option A: 10V
Option B: 15V
Option C: 5V
Option D: None of these
Q22. Laplace transform changes the domain function to the domain function.
Option A: | time, time
Option B: | time, frequency
Option C: frequency, time
Option D: | frequency, frequency
Q23. The resistance element while going from the time domain to frequency

domain.

Option A: | does not change
Option B: increases
Option C: decreases
Option D: | increases exponentially
Q24. The current in the R-L circuit at a time t = 0+ 1s?
Option A: V/R
Option B: R/V
Option C: A%
Option D: R
Q25. Find Z;, for the following network
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+ +
V, 2 Q) 2Q Vs
0 o
Option A: 11/5
Option B: 4/5
Option C: -4/5
Option D: 6/5
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